
ADVANCED ALGEBRA




NAME:  ____________________________

SEMESTER 2 FINAL REVIEW
1.  Simplify: 
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2.  Simplify: 
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3.  Multiply: 
[image: image3.wmf])
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4.  Find an equation for the inverse of the relation 
[image: image4.emf]
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5.  Divide:  
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6.  If a person invests $180 in an account that pays 10% interest compounded annually, find the balance after 10 years.

7.  Evaluate:  
[image: image6.emf]


5x3 −3x2 − 6x +10










5

x

3

-

3

x

2

-

6

x

+

10

 if 
[image: image7.emf]


x = −3










x

=-

3


8.  If $8500 is invested at a rate of 7% compounded continuously, find the balance in the account after 3 years. 

9.  Evaluate:  
[image: image8.emf]
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10.  Simplify: 
[image: image9.wmf]÷
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11.  Expand using the properties of logarithms: [image: image10.wmf]log
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12.  Multiply:  
[image: image11.wmf]=
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13.  Simplify:  
[image: image12.wmf]3
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14.  Use the Change Base Formula to evaluate 
[image: image13.emf]
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15.  Write 
[image: image14.emf]
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 as a single logarithm.
16.  If 
[image: image15.wmf]1
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f (x)− g(x)
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17.  Multiply:  
[image: image18.emf]
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18. You purchase a new vehicle for $28,000.  The vehicle depreciates at a rate of 12% each year.  What is the value of the car in 7 years?

19.  Add:  
[image: image19.wmf]3
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20.  Solve:  
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21.  Write an equation for the translation of 
[image: image21.emf]


x2 + y2 = 64
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, 7 units left and 6 units down.
22.  Find the center and radius of the circle with equation 
[image: image22.emf]
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23.  Find the missing term of the arithmetic sequence 21, ____, 11, …
24.  Find the missing term of the geometric sequence 12,  ____, 3, …
25.  Find the 25th term of the arithmetic sequence.


–4.4, –3.7, –3, –2.3, . . .

26. Find the sum of the first 24 terms of the arithmetic sequence, if the first term is 5 and the common difference is 4.

27.  Give the first four terms of the geometric sequence for which a1 = -2 and r = 3.
28.  You own 9 sweaters and are taking 4 on vacation. In how many ways can you choose 4 sweaters from the 9?

29.  Find the number of distinguishable permutations of the letters GRAPHICS.  

30.  Solve: 
[image: image23.emf]


6+ log4 x = 9
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31.  For dinner, you have a choice of 3 soups, 2 salads, 4 entrees, 5 desserts, and 6 beverages.  How many choices are there for ordering one soup, one salad, one entrée, one dessert, and one beverage?

32.  A set of data has mean 55 and standard deviation 6.  Find the z-score of the value 30.  

33.  Simplify:  
[image: image24.emf]
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34.  There are 15 entered in a race.  If there are no ties, in how many ways can a bronze, silver, and gold medal be awarded?

35.  Find the sum of the first ten terms in this series: 
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36.  Find the margin of error for the sample proportion, given a sample size of n=200.  Answer rounded to the nearest percent.
37.  Find the probability of x = 6 successes in n = 7 trials for the probability of success p = 0.65 on each trial.  Answer rounded to the nearest thousandth.

38.  Which element in matrix 
[image: image26.emf]
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 is the number 0?

39.  Which product is NOT defined?

[A]  
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[D]  
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40.  Given 
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, what is 2P – 3Q?
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